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Cooperation, Coordination and Conflict: Answer Scheme

Omega = Delta + Nu + Zeta + Tau + Pi

Delta = Mu + 2(Theta)

=25 +2(40/8)

=25+ 2(5)

=25+10

=35

(Requires information from Team Members 1, 2 and 3)

Nu = Episilon — lota

=90-80

=10

(Requires information from Team Members 1, 2 and 3)

Zeta = 2(Nu)

=2(10)

=20

(Requires information from Team Member 4)

Tau = Gamma + Zeta

=13(5) + 2(10)

=65+20

=85

(Requires information from Team Member 4)

Pi = 2(Delta)

=2(35)

=70

(Requires information from Team Member 2)

{)=220
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